CCSS Advanced Algebra 4 Quadratic Formula Check In Name

1, Use the Quadratic Formula ax? +bx+ec=0 =»x= "’—*‘ﬁfﬂ orx = "’Jmﬂ‘- to solve each equation:

a. 2°+7x-3=0 b. x*=11-x c. Wr+bx= -1
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2. The function f(x) = ax? +24x+72 has exactly one x-intercept. Use the Quadratic Formuiarto find the

value of a. N = 2‘% ﬁ‘m[‘7a> 243 576 - 2860
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CCSS Advanced Algebra 4 Quadratic Formula Check In Name
1. Use the Quadratic Formula ax® +bx+e¢=0 = x= ﬁi”—““ orx = ‘b—"&—‘i‘ﬂ'ﬁ , fo solve each equatlon
b, 2x2+7x-3=0 b. ¥*=11~-x o c. 9x? +6x— -1

2. The function f(x) = ax?+24x+72 has exacily one x-intercept. Use the Quadratic Formula to find the
value of a. -






